= I A

A B C
1) vi(s1=0) = 0 3) Q1(s1=L) = p2(s2=0) 7) v2(s2=L) = 0 N
2) @1(s1=0) = 0 " 8) M2(s2=L) = 0 Parte sinistra :
4) M1(s1=L) = M2(s2=0) v1(s1) = (-qs1A4/24EJ)+(C1s1A3/6)+(C2s1A2/2)+C3s1+C4
:) vi(sl=L) = 0O Parte destra :
6) v2(s2=0) = 0 v2(s2) = (-gs1A4/24EJ)+(d151A3/6)+(d2s1A2/2)+d3s1+d4

1) v1(s1=0) = O mmp (C4 = 0

2) P1(s1=0) = 0 == [C3 = 0O

3) (—qL/\3/6EJ)+(C1LA2/2)+C2L+¢ =d3 (1)

4) Ef*X1(s1=L) = Ef*¥2(s2=0) —p (dA2v1/dsA2)(s=L) = (dA2v2/dsh2)(s=0) — (-qLA2/2E)+C1L+C2 = d2 (2)
5) (-qLA4/24EJ)+(C1LA3/6)+(C2LA2/2)+C3L+C4 = O (3)

6) v2(s2=0) = 0 ==p-d4 = 0

7) (-qLA4/24E))+(d1LA3/6)+(d2LA2/2)+d3L+d4 = O (4)

8) EJ*x2(s2=L) = 09 (dA2v2/dsA2)(s=L) = O 9(-qLA2/ZEJ)+d1L+d2 =0 (5)

¥

(2) (-qIn2/2EJ)+C1L+C2 = d2 % C2 = (qIA2/2EJ)-C1L+d2

(3) (-qlA4/24EJ)+(CT1LA3/6)+(qIA4/4E)(CTLA3/2)+(d2LA2/2) = 09 (-C1LA3/3) = (5q|A4/24EJ)-(d2LA2/2)+ C1 = (5qI/8EJ)+(3d2/2L)
9 C2 = (qIA2/2EJ)+(5qlA2/8EJ)-(3d2/2)+d2 9 C2=(-qlA2/8EJ)-(d2/2)

(5) (-qir2/2Ed)+d1L+d2 = 09 d1 = (ql/2EJ)-(d2/L)

(1) d3 = (—qI/\3/6EJ)+(qI/\3/16EJ)+(3d2L/4)+(3qI/\3/8EJ)»(d2L/2)9 d3 = (qlA3/48EJ)+(d2L/4)

(4) (-qin4/24E))+(qln4/12E))-(d2LA2/6)+(d2LA2/2)+(3101A4/48EJ)+(d2LA2/4) = o9(33q|A4/48EJ)-(7d2|A2/12) = o+ d2 = -3qlA2/28EJ

= d1 = 17q//28E)
=3 d3 = -ql"3/168EJ
= C1 = 13ql/28EJ

+c2 = -qlA2/14E)

¥

vs1 = (-qsA4/24EJ)+(13qll/28EJ)(sA3/6)-(qlA2/14EJ)(sA2/2) vs2 = (-qsA4/24EJ)+(13ql/28EJ)(sA3/6)-(3qIA2/28EJ)(sA2/2)-(qlA3/168EJ)s
@s1 = (-gsA3/6EJ)+(13ql/28EJ)(sA2/2)-(alr2/14E))s @s2 = (-qsA3/6EJ)+(17ql/28EJ)(sA2/2)-(3qlA2/28EJ)s-(qlA3/168EJ)

Ms1 = gsA2/2-13qls/28+qlA2/14 Ms2 = qsA2/2-17qls/28+3qlr2/28

Ts1 = gs-13ql/28 Ts2 = qs-17ql/28

A

@1(s1=L) ? (2(s2=0)
(-qIA3/6EJ)+(13q1/28EJ)(1A2/2)-(qlA2/14EJ) = _qlA3/168E) v/
M1(s1=L) £ M2(s2=0)
QIA2/2-(1301/28EN)I+(qlA2/14) = 3qlA2/28



vmax .9([)51 =0 95 =0, (9710) .évmax = v( s=(9/10)I)

v1(s1=0) = 0 @1(s1=0) = 0 M1(s1=0) = qlr2/14 T1(s1=0) = -13ql/28
vi(sl=l) =0 @1(s1=l) = -qlA3/168EJ M1(s1=l) = 3qlr2/28 T1(s1=l) = 15q1/28
v2(s2=0) = 0 @2(s2=0) = -qlA3/168EJ M2(s2=0) = 3qlr2/28  T2(s2=0) = -17ql/28
v2(s2=l) = 0 @2(s2=l) = qlA3/42E) M2(s2=l) = 0 T2(s2=l) = 9ql/28

Tis1 =0 — q5-13q//28 = 0 — 51 = 131/28 — M1 (s1=131/28) = -57qlA2/1568
252 =0 3§ as17al/28 = 0, 52 = 17/28 S M2 (52=171/28) = -1210l"2/1568
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